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Moot Test

Model Test 1
— Band Four —

Part | Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conwersations. At the end of each conversaiion, a
question will be asked about what was said. Both the conversation and the question will be
spoken only once. After each question there will be-a pause. During the pause , you must read
the four choices marked A), B), C), and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheet with a single line through the centre .

1. A) In the library. B) In the bank.
C) In the dinic. D) In the book store.
2. A) He enjoys reading letters.
B) He is offering the woman a job.
g} He has been job-hunting.
D) He is working for a company .
3. A) He will come to this Mexican restaurant again.
B) He thinks the smell there is good.
C) He loves the food there.
D) He will never come to the Mexican restaurant at any time.
4. A) She can never recall the title of the book.
B) The ttle is rather difficult to pronounce.
C) She has temporarily forgotten the title.
D) It’s a bestseller of the year.
5. A) Borrow a dictionary from the library.
B) Have her teacher’s permission first.
C) Use her own dictipnmy.
D) Buy a dictionary herself.
6. A) She wouldn’t mind their cutting down the tree.
B) She would be glad if they cut down the tree.
C) She’d rather they not cut down the tree.
D) She thinks the tree is ugly.
7. A) She would go with him.
B) She would stay at home.
C) She would go with the kids.
D) She would visit their friends.
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10.

. A) Jim will get well soon.

E} Jim doesn’t like school.
C) The teacher is glad to hear that Jim can’t come to school.
D) Jim won’t go back to school any more.

. A\)) She would type the letter first.

B) She would go back home at once.

C) She would help the man immediately.

D) She would meet Mr. Black at home.

A) She’s studying for an accounting exam.

B) She’s been working in the library a lot.

C) She’ll be going to the Library after her exams.
D) She has more exams than he does.

Section B
Directions: In this section, you will hear 3 short passages. At the end of each passage , you will hear

some questions . Both the passage and the questions will be spoken only once. Afier you hear
a question , you must choose the best answer from the four choices marked A), B), C) and
D). Then mark the corresponding letter on the Answer Sheet with a single line through the
cenlre .

Passage One
Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A) Because London is a modern city .

B) Because they are freer than before.

G) Because they are richer than young people used to be.
D) Because they are more fashionable.

A) About eight million.

B) Nearly five million.

C) More than three million.

D) Over eight million.

A) London is the most interesting city in the world.
B) London is an undeveloped city.

C) London is the most exciting city in the world.
D) London is a cosmopolitan city .

Passage Two
Questions 14 to 17 are based on the passage you have just heard.

14.

15.

A) 1981 B)1891
C) 1819 D) 1919
A) 26 metres long by 14 metres wide.
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B) 14 metres long by 26 metres wide.
C) 24 metres long by 16 metres wide.
D) 16 metres long by 24 metres wide.
16. A) 20 B) 12
G D)5
17. A) Skill and cooperation.
B) Speed and physical power.
C) Speed and skill.
D) Skill and wisdom.

Passage Three
Questions 18 to 20 are based on the passage you have just heard.
18. A) He attended a school in Ohio.

B) His parents taught him.

G) He taught himself .

D) He had a home teacher.

19. A) 21 B) 38
C) 18 D) 29

20. A) To popularize education.
B) To tell children little stories.
C) To teach children how to read.
D/)" To teach children good behaviour.

Section C Compound Dictation

Directions: In this section, you will hear a passage three times. During the first reading , you should
listen carefully for a general idea of the whole passage. Then listen to the passage again.
When the first part of the passage is being read , you should fill in the missing word during
the pause at each blank . After listening to the second part of the passage you are required to
write down the main points according to what you have just heard. Finally, when the
passage is read the third time you can check what you have written .

Society has always been competitive, but in this century life is perhaps more competitive than

in any previous era. We are taught, almost form birth, to compare ourselves in mind and (S1)

with the people around us. Even as children we are (S2) intent on

showing that we are not merely (S3) from our fellows but in some way (S4)

to them. School life is an eternal (S5) .__; every day each child tries to

prove that he is more (S6) than the next child, and every term marks are (S7)
up to find the best as well as the worst child in the class.

On the sports field the process continues; (S8)
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Our jobs, our possessions and even the areas in which we live become a matter of competition.
We make out that (S9)

We dlaim that our country, town or village is the best, (510)
. Are we interested in proving

our superiority?

Part I Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished
statemenis. For each of them , there are four choices marked A), B), C) and D). You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with
a single line through the centre .

Passage One
Questions 21 to 25 are based on the following passage:

Men usually want to have their own way. They want to think and act as they like. No one,
however, can have his own way all the time. A man cannot live in society without considering the
interests of others as well as his own interests. “Socdiety” means a group of people with the same
laws and the same way of life. People in society may make their own decisions, but these decisions
ought not to be unjust or harmful to others. One man’s decisions may so easily harm another
person. For example, amotorist may be in a hurry to get to a friend”s house. He sets out, driving
at full speed like a competitor in a motor race. There are other vethes and also p_qdesmans on the
road. Suddenly there is a crash. There are screams and oonfusmn One careless motorist has
struck another car. The collision has injured two of the passengers and killed the third. _Too many

We have govemmcnts the pohce “and the law courts to prevcnt or to punish such criminal
acts. But in addition,, aJl men ought to observe certain rules of conduct. Every man ought to

* behave with consideration for other men. He ought not to steal, cheat, or destroy the property of

others. There is no place of this sort of behaviour in a civilized society.
21. A man cannot have his own way all the time because
he may have no interest in other people T
m he has to share the same interest with the people in the same society
Q his decisions are always unjust Y
\Q) his decisions always harm other people

{, 22. According to the passage, people in a civilized society should usually

AQ be honest to each other
B) be cautious in doing everything
C/ behave m a responsible way

‘Q) punish criminal acts
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m
/ \ 23. urpose of this passageisto_
A)tell peoplc how to behave in society

"B) illustrate the importance of laws
&Y, teach people how to prevent criminal acts
Nmrsuadc people not to make their own decisions
/4 24. It is implied that there will be fewer road accidents if
the drivers are more considerate of other people
"R) there are fewer cars or walkers in the street

) the motorists are not always in a hurry

D) the passengers are calm but not confused before the accidents
L 25. We can draw a conclusion ghat fM 4 %

A) the government should conmbute more efforts

R) the criminals should be more severely punished

\C)Zn1an should be more strict with himself

\Q) man should have more and more similar mterests

Passage Two
Questions 26 to 30 are based on the following passage:

Is there a “success personality” — some winning combination of qualities that leads almost
mevitably to achievement? If so, exactly what is that secret success formula, and can anyone
develop it?

At the Gallop Organization we recently focused in depth on success, probing the attitudes of
1,500 prominent people selected at random from ‘m America. Our research finds out a
number of qualities t thax occur regularly among top achievers. Here is one of the most important,
that is_common sense. - s é
percent award themselves a top score in this quallty And 61 percent say that common sense was
very important in contributing to their success.

To most, common sense means the ability to present sound, practical judgments on everyday
_affairs. To do this, one has to : sweep ‘aside extra ideas andgetnghtto the core of what matters. A
Texas 011 and gas businessman puts it this way: “The key ability for success is simplifying. In
conduction of meeting and dealing with industry reducing a complex problem to the simplest term is

highly important.”

011 man’s answer is that common sense can deﬁmtely bc devcloped Hc attnbutcs hls to leammg
how to debate in school. Another way to increase your store of common sense is to observe it in
others, leammg from thelr and your own — mistakes.

5
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you’ Il succeed. And you might even find yourself listed in Who’ s Who someday.

é, 26. Who’ s Who in the passage is

A) a book providing us with the information about the family life of some famous people
B) a very useful book telling us how to succeed

C) book providing us with the names and brief biographies of the top successful people
D) a book from which we can find out the names of different peoples in the world

(_ 21. According to the passage, common sense is

X} something that coromon people like best

R) a popular quality a person is born with .
@)@pnoem that enables one to form correct opinions
Q) a quality that is possessed by common people
’ 28. It can be inferred from the passage &mtﬁg_a}egsﬁimmgm—.
) tries to get experience through practice o
BY pays attention to the essence of a problem when he tries to solve it
) keeps on learning in order to be successful
‘W) has s strong willpower, extensive interest and intelligence
y 29. '1116 pnmaly 1c>lga of the passageis .
orgamzaﬂonal ablhty and good work habits
"R) the way to obtain big profits and achieve fame and success
Q) knowledge and interest which are primary to success
D) what successful people have in common
30. According to the author, W scommon senseis
N to become a businessman
\BY to learn how 1o debate and leam from mistakes

v6;1) to become famous
\D) to be simplifying

S —

Passage Three
Questions 31 to 35 are based on the following passage:

Between 1977 and 1981 three groups of American women, numbering 27 in all, between the
ages of 35 and 65, were given month-long test to determine how they would fE?EQIld to conditions
rescmbhng those aboard the space shuttle. '

SN

Though carefully selected from among many applicants, the women were volunteers and pay
was barely above the minimum wage. They were not allowed to smoke or drink alcohol during the
tests, and they were expected to to!etate each other’s company at close quaxters for the entire
period. Among other things, they had to stand pressure three times the force of gravity and carry
out both physical and mental tasks whlle exhaustcd from strenuous physical exercise. At the end of
they suffered backaches and other discomforts, and when they were finally allowcd up, the more
physically active women were especially subject to pains due to a slight calcium loss.

6
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Results of the tests suggest that women will have significant advantages over men in space.
They need less food and less oxygen and they stand up to radiation better. Men’ s advantages in
' terms of strength and stamina, meanwhile, are virtually wiped out by the zero-gravity condition in
space.
31. How long was cach woman test?

T) A) Four days. C) Twenty-seven months.
B) Twenty days. ;\y/One month.
32, The WL of women in each group tested was
AYO B) 27 C) 33 D) 50

/\.’%3. Which of the following can be inferred from the passage?
‘ A) The tests were not carried out aboard the space shuttle.
3) The women involved had had previous physical fitness trasng. X
(:) The women were tested once a year from 1977 to 1981 ‘X
D) The tests were carried out y men of all ages.
%\ 34. 'The most suitable title for the pg uld be
7, A) Older Women, Too, Can Travel in Space
B} Space Testing Causes Backaches in Women '
CyPoor Wages for Women Space-test Volunteers ] M Mj}’g?‘t}
D) Tests Show Women Suited for Space Travel
) Y; 35. What can be said about the women who ﬂ:_)g]jed? ‘
A They were 27 in all.
B) They were anxious to give up either smoking or drinkingx
C) They had previously earned the minimum wage.
\]y/’[hey chose to participate in the tests.

Passage Four
Questions 36 to 40 are based on the following passage:

Most large companies send people to colleges to interview graduating students with the
required academic training. A large university may have more than 500 companies a year knocking
on its doors. Big firms are your best place for a job because their normal growth, employee
retirement, and turnover ( AR fiial1%) create thousands of jobs nationwide each year.

Corporations, -however, illustrate the rule that the biggest isn’t always the best. Many small
firms with just a few hundred employees have positions that may correspond with your profession
goals, too. Such firrms-may not bave the time,-money, or need to _send people around to your

~ college; you’ Il probably have to contact them yoursclf either directly or through an employment
'\agency Don’ t ignore these little companies . @ salglcs ga)lrc usually competitive and the chances
for advancement and recognition even stronger than those of a big firm. You could become a fish in
\aj/mall pond, reaching a hlgh level position more quickly than you woh]d”lfyou had chmbed ‘the
.more oompetmve ladder of 2 oorporate giant.
" For example, a small company may need a bright engmeering, accounting or management
7
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graduate who would report directly to the senior vice-president of engimeering, the company
controller, or the general manager. In larger firms it may take years to reach that level and
accumulate similar in-depth experience. In addition, responsibilities may become faster in a small
firm with less specialization and fewer Tower-level employees to receive delegated (% F i)
authority .

.

/ 36. The purpose of the passage is

A

A) to define corporations and firms
"B) to show the relation between firms and colleges
Q) to inform the job-seeker of the employment requirements -

D/ to give a description of corporations for eollege students
37. Which of the following is TRUE of large corporations?
\V’———’—"\

\Q) They only employ college graduates.

u}/’ M f@B) They can offer many job opportunities.

(2 4%

A

<

2

7
4

NC)They have many sub-companies (4373 7]) nationwide.
D) Their requirements are very competitive.
38. The word “Their” (Sentence 5, Para. 2) refers to
A) corporations B) graduating students
\9/5621]1 firms D) employers
39. Which of the following is NOT true of small firms?
\)/It may be unnecessary for them to send people to colleges.

B) They cannot afford to send people to colleges.

\Q) Their employees may be promoted more quickly.

\13) They may offer positions which you demand. .
40. With whom is the passage most probably concerned?

A) Students. B) Employers. C) Employees. D) Engineers.
o7p 52 AL
Part Il Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices
marked A), B), C) and D). Choose the ONE answer that best completes the sentence . Then mark the
corresponding letter on the Answer Sheet with a single line through the centre.

41 \1;;7 till tomorrow what you can do today.

put OE’VilL B) put up/ig KR HC) pue out*é)/( é\;‘f /(D) put on}F b _E@?Z’

42. We would ﬁntact yo ive any accident occurs. 'i
A) mpﬁf‘,e f’QX/’Péi % /4\ \)/m spite of/l% D) on account of ﬂﬂ
43. Our English professor w’%/’

A) bm:h'-y“Z‘ )&r\/ongm 2(42(,}‘ C) source % D)breed ”/)% /£

44, My telephone has rung sg often today that it is becoming a(n)

mterruption e £y ] uisance /p Y
A) ;@L\pu BY trouble 34 1§ G) distres %f /@n //\y)(z@v\ ;X}lp
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45. We like him for his_______ as well as for his meri /f\ :
A) mistakes 45 % B) errors £4E ) fhilisitA bid {,@D)ﬂaws e #

" 46. The only thing that really bothers the studcnts 1S whether they wil have _____ to the resource
room of the department. 3’3 éf\_, .f)'KI G )ﬁ](é’ J%[k
@)/acccss B) means C) way D) method

! Mrs. Brown is so about her housework that her Sf/:f /ts /wﬂi not work for her.

) e 448 B) s gz g ©) sy ) i e

48. The girl’s become a film starwasneverr

A) dcsu/-ﬁ i [@%)\@/ ambition, #1), Zf C) mtzntlon\gé % ﬁ D) mo%

4 49. He seemed to be in no to work.

A) mind *‘Q ‘% > mouonm\’& \)/mOOd!J %% s %a/\( tocle |

. . '?é’/ Ih he v
50. The flagshing light was a { ve B (7
- ¢ f//l ’)'MM( b ’?( g
Y b g
1. She is ryprettybutthatkmdoffaccdoesnt ;
A) dtract /@ aPPea]de C) amuse D) charm ‘YMJM( 043, ¢
. I'd like to __ a\s?al seat for the concert next week. SEEVEUE, Cmuse //7;)%7643(6@
A) serveh o4 B) rcservc/(%t @rescrvc@—. D) nserve . EYAR
53. Quite a 16{ cép{oée watch TV only to(Qf é & 1 ;’t‘ﬁ( b D atte,
A) waste B) spend kill ﬁmé ) D) pass
54. She saw him coming but s him. - L\*&@HLJ
A) oyerlooked ¢ B)/fgngy \ag ZHC) omitted &, S04 B/ED) neglected 7 4. ,
) Most: I]opxlt: @ the town h\%elr house against ﬂbel_y__ 3%? M L ,%f[a fé &
A) assured B) f uredxérpf- - C n(‘/},/g-iLD) reassured M“’”@ s 'f(’ﬂ
P 4 o dnsre datgtunéb z/~z G AHfE
ces with the seascns e qualiics L Yegure sh. thead
/6f i ﬁﬁg B) change W«\[{Ii C) alter ”‘{%2 form ~ AZ— 40, (,{
/ Please yourself to the toy ic; don &mdude '(E 1 v, ’C%{riﬁffy Ly “ﬁ//‘k & _ﬁ
A) confront, /g B) conformtqzzév {5 conﬁrm'wjz M}/@?f co c fo ’(ZEVQ (Qé’l/
58. The boy, wantmg to be mdcpcndcnt his fathcr s offcr of help

A) mmedin p X B mmeddom%(é/@ unnedoﬂ?;?éf? D) tumed out [z JF /zf

@ She paid me a very charmm
@) comphmenv/ff % B) complcmcnt‘ﬂ kﬁ'C) Wﬁﬁﬁﬁ}ﬂﬂ%) completion \bﬁb

60. How can I have an? self-confidence when you are always so critical
A) on B) to A0 of T DYwih
61. Mass media may influence people’s ___ to the-government.
A) opinion B) view C)/attitude ;’\/Z D) comment

62. His description of the event is very

A) hvmg‘w/&/ﬂ B) alive [%}M &J)/(vcly L%%@W} live /’ L%Q_{/é?

6371 will let you drive on_condition that you have a

A) indispens @ ‘5%; M D) competent [3/2.44 /4

64. I did not do 1t
%V\" t'm m(/t{a'm Pt -
— 5K 11, 4 B —



® SFAPERNEESAENEEES 0 /W,lme A :@:5@

A) at B) with C)yon D) for
/' 'lhe open college is based on anew _______ on education which emphasizes the use of modern

air media to get messages, across. \ZZ\.. .
A) possessmnﬂ%b% perspectiveX Z\, ,Léc predmuonj’ﬁ 4/ D) proportion bb/ éj

66. you won’ t help me, I must do the job myself. JP
A)/Secing thatig”' B) That C) Provided that X% D) In order that 3

67. he works , I don’t mind when he finishes the experiment.
A)Asso B)Aswg}lasL (E)C)Sofarasylﬁ\] D) olongaslz
Did you scé the traffic accident’i mvovmg between a truck and two cars ‘the other

day?
A) comparison Ll,«(a}\B) coé/n{r%issf%gb / ) co]llsmn@' é] f)/ Ky D) combination (n
. We should work hard to_____ the expectations of ourZ

\Ayﬁve up to/ B) Live through{/l\%li Q) Live mdlsf/{%-‘@) live by A /{ \lr
70. The actual cost o antmg the book was much hlghcr than his '{‘}'7/{' 11/?

) essent ) po / 1m )
i I ‘1‘%/@ ’ L’\‘l\/ﬁAﬂ ‘ E%ﬁ ®}) 7// \»M )hﬁ

é & Part V Cloze (15 minutes )

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked
A), B), C) and D). You should choose the ONE that best fits into the passage. Then
mark the corresponding letter on the Answer Sheet with a single line through the centre .

Did yoy ever have someone’ s name on the,tip of your tongue and yet you were unable to
recall it? M is happens again, do not j/;_to recall it. Do something 73 for a couple
of m%sr,ﬂ € name may come into head. The name is there, since you ha ny1ct

75 son and learned his name. It 76" has to.be dug out Tb@mmal effort to recalll 777 7
the mind for operation, but it is the subconscious (_F%'TRB(J ) 78 go to work to dig up a
I'V"779 79 memory. Forcing yourself to recall 80 ™ 0[0 cver helps because it doesn’ t Méf" 781 " your
memory; it only tightens it. Students find the preparatory method helpful 82 ‘V’exammanons.
Thcy read over the questions | g-/t%%g
85 04" which they st confident. Meanwhile, deeper mental activities in the
subconscious mind are taking 86'@ l

to answer any of them. 84ﬂ;ﬁeyi answer first the

m
owork is being done on the 87  difficult question. By the
time the easier questions are answered, answers __ 88 the more difficult ones will usually begin to *
(am& / 89 into consciousness. It is often 90 a question of waiting for recall to come to the

memory . guy

71.A) As B)/When C) While D) Whether
72.A)y \%)want C) hesitate * D) wait
73.A) simple B) apart © s pﬁimﬂar
74.A) unless BYand G) or D) until
75.A) some B) certan C)/a @ this
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